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import sys
sys.path.append("statlib™)
from multi import gendat

gendat(n, r)
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import sys
sys.path.append("statlib")
from multi import gendat

a = gendat (10, 0.2)

import numpy as np
print (np.corrcoef(a.T))

[[1. 0.2]



[0.2 1. 1]
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x = [0.1, 0.2, 0.3, 0.4, 0.5, 0.6]
a = gendat (10, x)
print(np.corrcoef(a.T))

[[1. ©0.10.2 0.4]
[06.1 1. 0.3 0.5]
[0.2 0.3 1. 0.6]
[0.4 0.5 0.6 1. 1]

MBEREATI 2 5 2 %,
r = [[1.0, 0.5, 0.4],
[0.5, 1.0, 0.3],

[60.4, 0.3, 1.0]]
a = gendat (2000, r)
print (np.corrcoef(a.T))

[[1. 0.5 0.4]
[0.5 1. 0.3]
[0.4 0.3 1. 1]

import matplotlib.pyplot as plt

plt.axes().set_aspect(’equal’, ’datalim’)
plt.scatter(Cal:, 0], a[:, 1], s=9, alpha=0.3)
plt.text(1.0, -3.0, "r = "+str(sp.corrcoef(a.T)[O,

plt.xlabel ("x1")
plt.ylabel ("x2")
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